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= B 1 :: # 167,787 348,285 162,659 185,626
5 65 N B A #H 4,686 2,179 2,507
[t X ] 6,196 12,148 5,695 6,453
JHBE K HT 36 68 31 37
8 _E BT 45 88 37 51
A EH R AT 32 57 26 31
b3 EHEET 15 31 14 17
JILARET 87 150 64 86
5 /R HET 87 158 71 87
cp ) P T 47 71 28 43
BLAF 4 HT 126 199 91 108
B A 7K HT 114 185 88 97
it =) HT 223 466 221 245
FHHE 75 146 68 78
JI| £ HT 658 1,208 550 658
R 2 B ET 117 190 92 98
At fED P BT 37 73 36 37
SHERHET 65 108 49 59
& B EFHT 37 83 44 39
7K P HET 56 126 58 68
161 2= [T AT 22 38 19 19
A% SFET 492 872 A11 461
= RIRHET 337 608 294 314
HW—TH 337 647 312 335
HFIL=TH 177 382 186 196
FILW=TH 267 499 238 261
FLUMETH 151 333 166 167
SWWETH 155 340 164 176
FLWARTH 213 421 188 233
HFWETH 310 607 291 316
FLW/N\TH 322 645 289 356
ERES—TH 200 662 318 344
EREZTH 500 1,062 508 554
ERE=TH 311 650 296 354
R E PR 545 975 447 528
[RE#X] 6,229 12,317 5,723 6,594
ke S 32 57 21 36
RE T FHT 17 34 15 19
ch e BT 23 49 23 26
Be HT 64 125 50 75
DR EET 21 47 20 27
f2 55 P HT 31 63 28 35
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+$ﬁ|§%’kﬁ]ﬂﬁ 16 31 12 19
& 5T T 28 59 30 29
JIl 2 22 R T 42 78 32 46
JIlz BT 25 38 19 19
Fih 2 NHT 57 104 38 66
Fh 5T ET 41 57 19 38
2L Bm = HT 49 80 39 41
EE VD PR HET 26 54 20 34
& ZEHRHET 12 19 7 12
ho S ET 995 1,954 891 1,063
Fick kil 86 148 72 76
= BT 1,427 3,035 1418 1,617
=EEL 583 1,172 552 620
i FHE—TH 353 695 314 381
RALFRI=TH 148 268 125 143
RALFRI=TH 346 561 228 333
mitFiI—TH 177 390 182 208
FiLFAI=TH 478 969 473 496
miFAI=TH 461 979 455 524
mitFETETH 305 571 277 294
TR TH 386 680 363 317
[EFE#IX] 9,512 18,168 8,527 9,641
th ¥ EET 32 60 25 35
< FTEHT 12 22 10 12
Ju B FF HT 41 85 38 47
H T 26 63 30 33
papunli] 261 545 265 280
Bt IXET 518 1,088 506 582
s = ET 22 45 18 27
= 1 5 BT 32 67 29 38
b 5 HET 19 38 20 18
7E T EHT 43 74 34 40
BT HT 97 167 81 86
ne 1| BT 28 56 26 30
1€ E=IHT 33 61 28 33
=M 157 229 122 107
b R AR ET 153 249 115 134
A IR AR HT 692 1,319 631 688
IR A& dth 75 TR{HI BT 112 217 100 117
IR $& 3th 75 76 B BT 17 38 17 21
FA P T 103 180 81 99
A R ET 9 23 12 11
FA S HT 65 114 53 61
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A & = HT 33 46 25 21
/N K BRET 21 50 23 27
FAFTHET 84 124 48 76
HNET 78 144 66 78
RFRHET 1,046 2,195 1,086 1,109
RFZFEHET 356 739 337 402
il i) 1,291 2,465 1,121 1,344
A B EHT 133 217 102 115
24 B] 722 1,219 539 680
izl 256 554 267 287
N 589 917 415 502
FAREET—TH 730 1,431 655 776
FAREEI—TH 215 404 211 193
HREET=TH 283 583 271 312
FRRETET B 517 980 474 506
HREETATH 215 471 225 246
ERIREIRTH 73 167 72 95
BEREETETH 398 722 349 373
[#EFHHX] 1,339 2,432 1,062 1,370
B 3F #RHET 34 51 21 30
75 35 ARHET 38 52 27 25
5 {E P BT 34 60 24 36
ith 2 BT 8 17 6 11
FA T ET 43 67 27 40
JC PR R5E T 16 30 14 16
¥EAHT 31 51 25 26
2 - HT 6 11 5 6
£t AR R HT 78 137 61 76
S BA R5E BT 13 27 15 12
T {EN P ET 34 65 30 35
%5 Ea P52 T 34 56 19 37
L =HT 44 81 40 41
DEFsED:) 5 11 5 6
B P BT 157 315 130 185
¥ FEHET 53 92 40 52
A iRET 47 65 25 40
AR ERT 78 177 72 105
=0T 16 33 14 19
B F<rHT 52 73 33 40
HT 60 80 27 53
dt [ BT 28 57 27 30
AFSPHT 11 25 12 13
/NI BT 25 55 28 27
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Cick A=l 27 55 26 29
Jt & = BT 24 45 25 20
55 35 HT 2 5 2 3
5[] 7 AT 23 32 14 18
B [m] R ET 10 24 12 12
7 fiE] P T 11 12 3 9
/NFEHT 154 322 142 180
FR/NERET 40 61 28 33
= X HET 30 52 19 33
£ [EET 37 70 30 40
B RERHET 36 66 34 32
[{ERHIX] 8,387 16,397 7,562 8,835
oh #7 BT 40 71 30 41
B [A] AL BT 40 57 20 37
K= ILAT 32 40 9 31
REZILUZEIRET 50 90 32 58
1 E AT 45 70 34 36
162 HT 50 82 24 58
EEE 6 15 7 8
i = HT 61 124 55 69
+ HZEHRET 11 20 9 11
Jt/NERET 67 82 18 64
A EH AT 45 68 28 40
A3 H G AT 35 60 29 31
v B FEAT 34 44 11 33
Jt 3 H h ET 28 56 25 31
2 FHAEHET 78 90 10 80
8/ ERET 14 29 12 17
1% R HT 32 56 26 30
B EFEET 7 12 8 4
= X T 120 189 84 105
7o £ 54 AT 249 415 187 228
:II:JIImET 53 106 42 64
b &= HT 123 211 86 125
75 &1 7K BT 92 171 75 96
% P HT 60 106 49 57
R 35 HT 48 85 36 49
B2 W] 29 45 17 28
P E R ST 12 20 8 12
T 1E ZKHT 74 164 81 83
(=Rl 21 35 15 20
R RHET 72 121 49 72
Y8 = BT 1 1 1 0
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AR tE ET 52 101 46 55
Jt T ET 286 541 253 288
SEEFEFET 1,992 4,074 1,983 2,091
EEERWL—TH 119 274 127 147
EBERIUL=TH 12 17 8 9
EBERLUMNTH 0 0 0 0
et 4,089 8,188 3,803 4,385
=RET 177 403 198 205
=+ HEAHET 31 64 27 37
[KXE#[X] 11,782 21,543 9,914 11,629
= KIGHT 739 1,472 672 800
=&KX 601 1,170 550 620
=) FRET 155 287 133 154
=31 660 1,149 523 626
T = EHT 101 239 124 115
S5t FHT 56 116 49 67
75 2 PR ET 48 62 23 39
sH Bl 3h 75 BT 74 159 83 76
JH Bl BT 181 268 128 140
= &KHT 928 1,685 737 948
=X =RiIHT 358 679 307 372
=&iRIIIET 414 797 381 416
=& K= 457 810 380 430
K=EE—TH 686 1,204 533 671
KER—TH 1,217 2,409 1,083 1,326
KEB=TH 1,004 1,769 854 915
KEBETMNTH 1,154 2,131 969 1,162
KEBATH 82 120 50 70
KEHEIATH 272 411 186 225
KEBETH 159 270 119 151
] 294 538 248 290
ZstBT—TH 237 449 231 218
ZEET=TH 521 1,005 463 542
CiET=TH 711 1,238 588 650
ZEETNT B 673 1,106 500 606
[(XZFHEX] 5,094 10,555 5,029 5,526
KL FH 132 396 208 188
EDE—TH 432 913 430 483
TOE_TH 314 667 330 337
TDE=TH 416 798 357 441
RDFEFHET 53 107 53 54
BN 333 698 336 362
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icEN: 414 953 439 514
J\SEHT 75 167 76 91
I\NE&—TH 152 303 148 155
J\&_TBH 2 6 3 3
J\E=TEH 13 31 17 14
I\NERTH 204 405 200 205
RELEFHE—TH 126 335 158 177
KEZFH/=TH 118 288 134 154
RKEZF—TH 291 526 244 282
RKLEF_TH 292 638 299 339
KEZF=TH 406 819 413 406
KELZFMNTH 243 512 238 274
KEZFHRTH 335 588 271 317
RELEFATH 407 761 368 393
RKLZFLETH 336 644 307 337
[&REfHh X 14,222 29,491 13,943 15,548
1EX—TH 166 356 144 212
EE-TH 276 556 248 308
EE=TH 297 604 285 319
st LT 243 457 205 252
JEst HrHT 233 471 231 240
JEsEFalT 127 248 123 125
JE st HT 64 190 107 83
JE 3t FRHET 94 163 69 94
Jt T ET 17 23 9 14
FAFTHET 60 159 83 76
& CHT 919 1,818 870 948

&lB—TH 408 950 474 476
REB_TH 172 343 160 183
FKHT 190 419 190 229
IRIEHT 136 308 141 167
REM—TH 487 1,091 528 563
AEME=-TH 159 419 213 206
7GR HT 237 506 242 264
ﬁ%—T = 727 1,488 695 793
/\* —TH 434 905 436 469
NEZ=TH 284 572 258 314
NEHZRET—TH 109 226 101 125
NEHETZTH 188 401 178 223
NERB=TH 134 296 148 148
£ &KHT 103 224 113 111
&I —TH 701 1,525 708 817
t&AEI=TH 22 46 25 21
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t&—TH 695 1416 690 726
+t&_-TH 18 18 9 9
75/ = HT 316 622 290 332
L EH 140 272 130 142
—&BI—TH 114 209 93 116
—XZB—TH 184 348 164 184
—ZBI=TH 90 210 91 119
ANEBE—TH 354 654 291 363
INER_TH 183 491 236 255
NEA=TH 731 1,537 686 851
NEBAIETH 257 456 196 260
NEAATH 369 806 387 419
ANEREATH 222 523 247 276
—EXE—TH 51 83 36 47
—EXBE_TH 51 112 50 62
—E&EKIEE=TH 18 44 17 27
—EARXREMTH 64 131 63 68
—EAXREATH 115 208 112 96
=&XKK—TH 380 688 340 348
=£KXKZTH 83 161 82 79
=£KXKK=TH 131 287 142 145
=X KKRETH 115 206 105 101
=£XKKRATH 138 287 146 141
mEXK—TH 1,045 1,933 903 1,030
MEXK=-TH 404 832 400 432
MEXREK=TH 472 1,074 502 572
REXKMUTH 269 582 297 285
MEXRKRAETH 226 537 254 283
[T X]) 9,062 20,248 9,583 10,665
{REE 1,957 4,950 2,431 2,519
o LI T 2,043 4,608 2,201 2,407
LLI £ BT 1,378 2,869 1,356 1,513
TN T 1,583 3,422 1,567 1,855
NER BT 419 811 359 452
WE=FIET—TH 240 483 227 256
WE=FEI=TH 173 424 200 224
TN ST 180 339 162 177
HER—TH 579 1,291 605 686
HER_TH 362 771 354 417
E b T 148 280 121 159
[IRR#X] 14,971 30,939 14,499 16,440
PFE K3/ NS HT 279 433 202 231
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e KT HET 247 500 234 266
P8 K S Fhith BT 245 571 272 299
A RFEIEET 138 336 154 182
BRFETE 220 463 219 244
P5 K FHT 49 72 43 29
‘= R T 818 1,929 929 1,000
2RE—TH 292 592 285 307
2REZTH 413 845 421 424
Eadil 35 96 47 49
EHE—TH 297 616 307 309
FHE—TH 140 273 130 143
56— TH 145 327 164 163
£=25_"TH 167 383 174 209
EE=58=TH 204 437 216 221
EERMNTH 118 278 130 148
E H AT 255 732 359 373
= kM7 199 492 245 247
A HB—TH 119 232 114 118
AHB—TH 230 518 251 267
AHBI=TH 227 523 250 273
A HBTET B 156 443 212 231
AHBTATH 274 617 291 326
FARFEE—TH 374 748 335 413
FAAERET—TH 14 26 10 16
FARFHE—TH 511 1,012 471 541
FARFHEAZTH 168 311 145 166
P R FAHET 485 1,010 446 564
FE R FRHET 178 359 154 205
5 K F T 735 1,366 610 756
AAFERA—TH 1,105 2,090 934 1,156
AAFERAZTH 371 768 344 424
AAFERH=TH 198 450 207 243
BAFIE—TH 354 611 286 325
AAFIH=TH 124 253 118 135
AAFIB=TH 180 289 134 155
AAFIRETH 182 351 167 184
AAFZH—TH 351 649 308 341
AAFZHZTH 282 541 286 255
ARFHFHET—TH 207 401 187 214
ARFHFHEIZTH 151 264 121 143
ARFEFH—TH 208 461 211 250
BAFEEINNZ=TH 21 34 19 15
FARFHFEB—TH 293 517 243 274
AAERAR_TH 211 413 182 231
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=X—TH 332 615 287 328
ETE_-TH 308 597 297 300
ETX=TH 260 522 235 287
EXMETH 273 557 256 301
=EXATH 39 75 42 33
EWM—TBH 516 1,080 488 592
TEW=TH 334 719 327 392
IEM=TH 314 670 304 366
EMMTH 269 626 303 323
EMAETH 356 846 393 453
[Bosithih[X] 4,527 9,513 4,359 5,154
HPOHME—TH 451 890 398 492
HPOHMEZTH 410 761 326 435
HOHME=TH 401 766 340 426
HPOHMEMTH 265 556 234 322
HPOOMERTH 315 616 285 331
HPOHMENRTH 671 1,344 614 730
HPOHMEETH 393 969 459 510
HPrHME/NTH 219 516 247 269
HoHMit—TH 481 1,083 512 571
HOHMIL=TH 338 790 352 438
HOOHMIL=TH 583 1,222 592 630
[ZZEHhX] 12,336 27,014 12,334 14,680
FEE—TH 324 715 331 384
FEFE-TH 414 971 451 520
FEFE=TH 399 813 365 448
FEXFET—TH 410 970 446 524
FEXFETZTH 463 892 407 485
FEXIEI=TH 367 857 382 475
FEXFETETH 322 733 316 417
FERXMETAETH 518 1,331 658 673
FERXFMET/ANTH 1,141 2,823 1,340 1,483
FEIE—TH 334 683 295 388
2EI_—TH 292 626 265 361
FEEH B HET 945 1,761 778 983
FEEHTBE—TH 440 908 409 499
FEFBHTET=TH 512 1,140 535 605
e EL 552 876 344 532
#ESE AT 1,374 2,823 1,270 1,553
BER—TH 586 1,220 582 638
BEEZTH 155 376 169 207
BEER=TH 170 421 209 212
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BEEMNTH 178 467 229 238
BEERTH 392 926 416 510
hIUETFEE—TH 121 310 149 161
b UETF=TH 418 1,059 484 575
b URTFEE=TH 480 980 454 526
hIUETFEMET B 359 768 340 428
EHHBEI—TH 286 714 320 394
EAAET—TH 384 851 390 461
[y FEih[X] 10,999 24 557 11,280 13,277
ZEsE—TH 71 169 82 87
BE+E_TH 93 209 88 121
ZESTHE=TH 183 399 163 236
ZELEMTH 194 384 169 215
EErERTH 315 738 348 390
ZESLRENRTH 213 466 200 266
BEESRE 504 1,089 523 566
h&E~,+E—TH 1,756 2,799 1,221 1578
h&EyEZTH 226 528 246 282
h&E~yE=TH 210 542 258 284
h&EX~sEMNTH 784 1,850 849 1,001
h&EXEsERTH 238 793 398 395
h&EX~,ENRTH 992 2,756 1,291 1,465
mEESrE—TH 423 959 437 522
HEXyEZTH 599 1,168 539 629
mEELHE=TH 261 551 248 303
AEESENTH 355 796 351 445
mEELHERTH 294 628 272 356
AEESFEARTH 501 1,061 494 567
mEELELTH 215 452 210 242
mEESE/\TH 451 1,041 476 565
BEE~sE—TH 187 453 214 239
BEESYE-TH 265 587 268 319
REESYE=TH 32 70 33 37
HEESHENTH 173 396 179 217
REESYERTH 200 446 196 250
REE~TENRTH 252 669 321 348
tt&ErE—TH 115 263 117 146
t&EXrEZTH 152 417 204 213
t&E-E=TH 205 513 231 282
t&ES-ENTH 154 361 161 200
t&ErERTH 176 393 191 202
tEELENRTH 210 611 302 309
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r’&ﬂtli] 23,748 52,952 24,691 28,261
—4%—TH 44 92 38 54
—4%=TH 423 1,028 491 537
—4%=TH 348 935 436 499
—&ZmTH 198 463 218 245
—_ZATH 29 63 29 34
—&RTH 5 16 7 9
—AFEH—TH 56 118 51 67
—EZEH_"TH 52 127 59 68
—_4 iHT 81 169 78 91
=— 433 1,056 480 576
_&—T E 420 912 451 461
== 181 396 180 216
=t ITE 146 437 210 227
= HEAT 350 1,026 501 525
=TI —TH 947 2,007 921 1,086
EHTAI—TH 461 886 397 489
EHTAI=TH 130 222 107 115
S TR T B 270 596 270 326
= Nd 278 617 288 329
Ei)IIFE—TH 473 1,121 528 593
EH)IIFE=-TH 296 816 400 416
ch BT 1,039 2,540 1,203 1,337
FIFWL—TH 579 1,270 573 697
FIFIL_TH 397 825 402 423
FIFEIL=TH 262 546 248 298
AWL—TH 234 494 242 252
FLIW=TH 287 633 288 345
Ef Ry E 296 656 297 359
KIEHT 215 244 112 132
=2Ha 401 857 407 450
B/ RKE—TH 643 1,382 606 776
E/AE_-TH 331 735 343 392
B/ RKE=TH 394 889 413 476
B/ RKEWmETH 117 274 130 144
== $7 FHHET 375 950 452 498
FEFRRET 149 333 159 174
FKIET 114 238 116 122
A KHET 191 456 210 246
A0 H ET 144 297 133 164
FRyE—TH 359 806 365 441
FHR5yEZTH 364 725 326 399
FR4E=TH 303 691 307 384
HiEE—TH 86 179 91 88
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%EA_TE 75 174 78 96
FHEE=TH 102 190 82 108
ERE—TH 285 619 281 338
ERBI—TH 330 787 358 429
ERBI=TH 527 1,298 625 673
ERETMTH 923 1,456 684 772
BAFsE—TH 232 518 243 275
BAFRyE-TH 276 610 303 307
ATy E=TH 246 549 251 298
FEHyE—TH 169 394 182 212
Ry E-TH 198 477 229 248
FEHZyE=TH 163 379 169 210
FEF—TH 61 137 58 79
FEF=TH 65 121 57 64
FEH=TH 258 572 267 305
FEFETH 231 415 176 239
FETARTH 462 1,155 559 596
FIFEUA—TH 193 613 313 300
FIFLUA_TH 5 12 7 5
FIEUE—TH 135 296 132 164
FIFWUE=TH 228 480 217 263
FIFEUE=TH 179 420 177 243
FIFILUEMET B 207 464 222 242
FIFWUEARTH 186 400 185 215
HZFWETH 168 370 177 193
FIFEILATHE 128 260 113 147
FIFELUNTH 406 725 325 400
Eifd—TH 798 1,711 805 906
EHIE_TH 434 985 467 518
EMI=TH 1,009 2,255 1,051 1,204
m BﬁA—TE 142 249 95 154
m —TH 259 542 249 293
(PN BaA_TE 186 398 181 217
WSl TH 213 513 252 261
=M—TH 253 547 256 291
=M_-TH 88 182 86 96
=#=TH 288 620 279 341
=HETH 29 49 24 25
=HATH 349 1,007 481 526
=fERTH 179 439 217 222
=H#tTH 12 29 14 15
FiF L AT 170 412 201 211
[0 Ihh X ] 2,361 5,085 2,397 2,688
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#I—TH 640 1,051 507 544
M) —TH 223 490 231 259
#MIH=TH 317 766 362 404
#INMT H 387 898 406 492
#HINATH 354 830 384 446
#INRTH 440 1,050 507 543
[Exih[X ) 2,430 4,691 2,087 2,604
£R=—TH 6 14 7 7
£R=TH 1277 1,979 836 1,143
£R=TH 388 895 424 471
AXEIMTH 242 563 256 307
£ERZATH 517 1,240 564 676
[KEHK] 2,896 6,439 3,003 3,436
XE—TH 418 1,006 472 534
KEZ 222 498 224 274
X¥#=TH 467 1,010 472 538
XEWMTH 409 965 457 508
RERTH 1,039 2,149 999 1,150
KENTH 341 811 379 432
[ER#X] 2,525 5,973 2,830 3,143
ER—TH 443 1,024 475 549
ER=TH 914 2,080 979 1,101
ER=TH 729 1,640 765 875
EXEIMTH 260 591 282 309
ERZATH 174 625 323 302
EFNTH 5 13 6 7
[ErhiihX] 5,385 9,643 4,632 5,011
B LEHT 3,855 6,949 3,292 3,657
75 LK HT 137 305 144 161
A HT 652 1,152 564 588
AAFE—TH 143 229 126 103
FAAEEIZTH 257 438 235 203
FAAEEI=TH 335 564 265 299
FAAEETETH 6 6 6 0
[ER;EHX] 4,240 8,818 4,236 4582
Jt 7K FHHT 683 1,530 734 796
dt 2 EHT 277 535 264 271
FA 7K FHT 768 1,642 759 883
HER BT 2,069 4274 2,048 2,226
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H = B HT 275 624 284 340
L2 EFRBI—TH 123 159 111 48
Itz EFBET—TH 45 54 36 18
[Ehi#hX] 3,062 5,743 2,687 3,056
& Th T 2,070 3,886 1,797 2,089
1 FEHET 4 4 3 1
J\EHT 69 156 78 78
ERKHET 2 2 2 0
2 57 E BT 229 404 193 211
e [ T 214 473 221 252
EH—TH 161 261 122 139
BHE_-TH 153 250 118 132
BH=TH 67 144 66 78
BHAMETH 4 8 4 4
BARTH 73 114 61 53
BHNRTH 11 25 15 10
BHAEtTH 5 16 7 9
[FfEH X ] 1,358 2,751 1,281 1,470
ZE 2 [ERT 194 380 181 199
A B BT 56 129 55 74
LLI BT 279 620 301 319
ST 431 858 403 455
S EHT 51 99 50 49
H o T 347 665 291 374
[EE#HK) 323 650 301 349
KAHT 52 106 48 58
ch X BT 52 118 59 59
6 [ S T 11 23 11 12
A tE EHT 11 17 8 9
¥ EHT 39 63 28 35
=R LLET 19 50 24 26
= A BT 123 247 112 135
JE Z2 ek T 16 26 11 15
[AE#KX] 729 1,473 736 737
& H AT 29 76 37 39
Z far 7 54 95 43 52
% H 7 HT 91 215 106 109
RAH 37 71 35 36
Hll/ )1 BT 110 133 83 50
A AR HT 29 58 27 31




EIT% }‘:‘Uﬂiméﬁl&U &0 64 48 1HIE
i) H & g i £

th 2z FEHT 33 80 38 42
thE HT 7 14 7 7
KEFHT 19 52 23 29
=EA] 34 70 36 34
2 EhET 22 51 27 24
1Lk FR T 16 36 16 20
F0 BT 37 90 44 46
ZE LI HT 18 40 21 19
Z ZHET 26 58 30 28
HI/E & B i 32 56 30 26
7K s BT 112 234 112 122
7l BT BT 23 44 21 23
GIES Y] 420 861 413 448
DA BT 92 190 89 101
IESN) 69 112 58 54
6 4 R T 42 98 49 49
2 Hh T 98 205 96 109
KIRHET 40 95 43 52
F A HT 57 114 57 57
1t E7 LU BT 22 47 21 26
[REHX] 377 754 336 418
RADA HT 137 295 128 167
[ Je= HT 115 222 08 124
KEEHT 38 80 39 41
A5 LET 45 84 38 46
RE L ET 42 73 33 40
[EEE#IX] 335 652 332 320
Z8 ]I T 118 253 123 130
A E HT 36 65 31 34
Jt AT HT 39 63 30 33
(= EH BT 2 3 2 1
S 7K ET 26 55 32 23
AR 44 89 48 41
& AT 15 19 11 8
BNS)I| BT 17 37 20 17
th /I BT 38 68 35 33
D)1 X] 181 377 180 197
¥ 1| i BT 28 54 26 28
Fa k)1 BT 26 48 21 27
s IEX) 20 46 22 24
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T3E)I BT 98 201 97 104
1 [ BT 9 28 14 14
[A~#EhX]) 481 1,199 580 619
A 3A1T 146 337 167 170
A~ #EI 107 289 138 151
Ay #ES 47 136 66 70
Ay #E 20 50 21 29
B3R 42 91 44 47
Ao BEE 119 296 144 152
[#RmRh X ] 2,280 4,902 2,427 2,475
ER ik = 2 FE AT 75 176 79 97
2Rk B o] BT 20 49 23 26
S0 FF BT 16 49 23 26
#R il = FH BT 182 356 171 185
A AE T 184 346 188 158
ZRmB /N L BT 74 160 79 81
2 iR 48 ST BT 35 96 48 48
ER R 0t LI AT 158 404 186 218
HBWMBZSALNE 220 467 244 223
=R a0 473 910 445 465
EHHT 384 814 414 400
&1+ 5l FrET 122 255 136 119
INEHT 79 210 96 114
3 IIAT 71 180 89 91
i) HT 49 109 47 62
¥ HT 82 195 100 95
ZR il B 35 T 56 126 59 67




